

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: **SUNNY PINE**

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,050.00	\$4,200.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,050.00	\$4,200.00
4	Stewardship Visits - 2029	4	EA	\$1,450.00	\$5,800.00
TOTAL					\$18,400.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$6,750.00	\$6,750.00
Alt. 2	Prescribed Burn	1	LS	\$3,500.00	\$3,500.00
TOTAL PLUS ALTERNATES					\$28,650.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: 88th Avenue North Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,050.00	\$4,200.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,050.00	\$4,200.00
4	Stewardship Visits - 2029	4	EA	\$1,250.00	\$5,000.00
TOTAL					\$17,600.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$6,250.00	\$6,250.00
Alt. 2	Prescribed Burn	1	LS	\$3,250.00	\$3,250.00
TOTAL PLUS ALTERNATES					\$27,100.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

A handwritten signature in blue ink that reads "Coilin McConnell".

Title: Natural Resources Department Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond:** Tallgrass Pond**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,250.00	\$5,000.00
2	Stewardship Visits - 2027	4	EA	\$1,250.00	\$5,000.00
3	Stewardship Visits - 2028	4	EA	\$1,250.00	\$5,000.00
4	Stewardship Visits - 2029	4	EA	\$1,450.00	\$5,800.00
TOTAL					\$20,800.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,350.00	\$3,350.00
TOTAL PLUS ALTERNATES					\$24,150.00

Authorization & Signature**Company Name:** Baxter Woodman Natural Resources**Name of Authorized Signee:** Coilin McConnell**Signature of Authorized Signee:****Title:** Natural Resources Department Manager

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond: Legend Trail Pond****Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,050.00	\$4,200.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,050.00	\$4,200.00
4	Stewardship Visits - 2029	4	EA	\$1,250.00	\$5,000.00
TOTAL					\$17,600.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,250.00	\$3,250.00
TOTAL PLUS ALTERNATES					\$20,850.00

Authorization & Signature**Company Name: Baxter Woodman Natural Resources****Name of Authorized Signee: Coilin McConnell****Signature of Authorized Signee:****Title: Natural Resources Department Manager**

Village of Orland Park**2026-2029 Pond Shoreline Stewardship
Proposal Sheet****ORLAND PARK****Pond: 87th Avenue East Pond****Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,050.00	\$4,200.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,050.00	\$4,200.00
4	Stewardship Visits - 2029	4	EA	\$1,250.00	\$5,000.00
TOTAL					\$17,600.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,895.00	\$3,895.00
TOTAL PLUS ALTERNATES					\$21,495.00

Authorization & Signature**Company Name: Baxter Woodman Natural Resources****Name of Authorized Signee: Coilin McConnell****Signature of Authorized Signee:****Title: Natural Resources Department Manager**

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: Persimmon Meadow Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,450.00	\$5,800.00
2	Stewardship Visits - 2027	4	EA	\$1,450.00	\$5,800.00
3	Stewardship Visits - 2028	4	EA	\$1,450.00	\$5,800.00
4	Stewardship Visits - 2029	4	EA	\$1,750.00	\$7,000.00
TOTAL					\$24,400.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,895.00	\$3,895.00
TOTAL PLUS ALTERNATES					\$28,295.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



Pond: Long Run Creek Park Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,050.00	\$4,200.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,050.00	\$4,200.00
4	Stewardship Visits - 2029	4	EA	\$1,250.00	\$5,000.00
TOTAL					\$17,600.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$8,245.00	\$8,245.00
Alt. 2	Prescribed Burn	1	LS	\$3,950.00	\$3,950.00
TOTAL PLUS ALTERNATES					\$29,795.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



ORLAND PARK

Pond: Preston Drive Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$895.00	\$3,580.00
2	Stewardship Visits - 2027	4	EA	\$895.00	\$3,580.00
3	Stewardship Visits - 2028	4	EA	\$895.00	\$3,580.00
4	Stewardship Visits - 2029	4	EA	\$1,095.00	\$4,380.00
TOTAL					\$15,120.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,250.00	\$3,250.00
TOTAL PLUS ALTERNATES					\$18,370.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



ORLAND PARK

Pond: Greystone Ridge Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,250.00	\$5,000.00
2	Stewardship Visits - 2027	4	EA	\$1,250.00	\$5,000.00
3	Stewardship Visits - 2028	4	EA	\$1,250.00	\$5,000.00
4	Stewardship Visits - 2029	4	EA	\$1,550.00	\$6,200.00
TOTAL					\$21,200.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,950.00	\$3,950.00
TOTAL PLUS ALTERNATES					\$25,150.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



ORLAND PARK

Pond: Royal Oaks Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$845.00	\$3,380.00
2	Stewardship Visits - 2027	4	EA	\$845.00	\$3,380.00
3	Stewardship Visits - 2028	4	EA	\$845.00	\$3,380.00
4	Stewardship Visits - 2029	4	EA	\$895.00	\$3,580.00
TOTAL					\$13,720.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,250.00	\$3,250.00
TOTAL PLUS ALTERNATES					\$16,970.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



Pond: Colonades Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$845.00	\$3,380.00
2	Stewardship Visits - 2027	4	EA	\$845.00	\$3,380.00
3	Stewardship Visits - 2028	4	EA	\$845.00	\$3,380.00
4	Stewardship Visits - 2029	4	EA	\$895.00	\$3,580.00
TOTAL					\$13,720.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$8,250.00	\$8,250.00
Alt. 2	Prescribed Burn	1	LS	\$3,250.00	\$3,250.00
TOTAL PLUS ALTERNATES					
					\$25,220.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: Orland Goldview Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,250.00	\$5,000.00
2	Stewardship Visits - 2027	4	EA	\$1,250.00	\$5,000.00
3	Stewardship Visits - 2028	4	EA	\$1,250.00	\$5,000.00
4	Stewardship Visits - 2029	4	EA	\$1,495.00	\$5,980.00
TOTAL					\$20,980.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$4,245.00	\$4,245.00
TOTAL PLUS ALTERNATES					\$25,225.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: Park Hill Pond #1

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$875.00	\$3,500.00
2	Stewardship Visits - 2027	4	EA	\$875.00	\$3,500.00
3	Stewardship Visits - 2028	4	EA	\$875.00	\$3,500.00
4	Stewardship Visits - 2029	4	EA	\$995.00	\$3,980.00
TOTAL					\$14,480.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$4,250.00	\$4,250.00
TOTAL PLUS ALTERNATES					\$18,730.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

A handwritten signature in blue ink that reads "Coilin McConnell".

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



ORLAND PARK

Pond: Park Hill Pond #3

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$875.00	\$3,500.00
2	Stewardship Visits - 2027	4	EA	\$875.00	\$3,500.00
3	Stewardship Visits - 2028	4	EA	\$875.00	\$3,500.00
4	Stewardship Visits - 2029	4	EA	\$995.00	\$3,980.00
TOTAL					\$14,480.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$4,250.00	\$4,250.00
TOTAL PLUS ALTERNATES					\$18,730.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



Pond: Helen Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$845.00	\$3,380.00
2	Stewardship Visits - 2027	4	EA	\$845.00	\$3,380.00
3	Stewardship Visits - 2028	4	EA	\$845.00	\$3,380.00
4	Stewardship Visits - 2029	4	EA	\$950.00	\$3,800.00
TOTAL					\$13,940.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,250.00	\$3,250.00
TOTAL PLUS ALTERNATES					\$17,190.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



Pond: Anthony Drive Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,050.00	\$4,200.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,050.00	\$4,200.00
4	Stewardship Visits - 2029	4	EA	\$1,250.00	\$5,000.00
TOTAL					\$17,600.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,250.00	\$3,250.00
TOTAL PLUS ALTERNATES					\$20,850.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park

2026-2029 Pond Shoreline Stewardship Proposal Sheet



ORLAND PARK

Pond: Yearling Crossing Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$845.00	\$3,380.00
2	Stewardship Visits - 2027	4	EA	\$845.00	\$3,380.00
3	Stewardship Visits - 2028	4	EA	\$845.00	\$3,380.00
4	Stewardship Visits - 2029	4	EA	\$950.00	\$3,800.00
TOTAL					\$13,940.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,250.00	\$3,250.00
TOTAL PLUS ALTERNATES					\$17,190.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



ORLAND PARK

Pond: Great Egret Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,050.00	\$4,200.00
2	Stewardship Visits - 2027	4	EA	\$1,050.00	\$4,200.00
3	Stewardship Visits - 2028	4	EA	\$1,050.00	\$4,200.00
4	Stewardship Visits - 2029	4	EA	\$1,250.00	\$5,000.00
TOTAL					\$17,600.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$3,850.00	\$3,850.00
TOTAL PLUS ALTERNATES					\$21,450.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



Pond: Bluff Point Ponds 1, 2, & 3

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$2,550.00	\$10,200.00
2	Stewardship Visits - 2027	4	EA	\$2,550.00	\$10,200.00
3	Stewardship Visits - 2028	4	EA	\$2,550.00	\$10,200.00
4	Stewardship Visits - 2029	4	EA	\$2,950.00	\$11,800.00
TOTAL					\$42,400.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$0.00	\$0.00
Alt. 2	Prescribed Burn	1	LS	\$6,550.00	\$6,550.00
TOTAL PLUS ALTERNATES					\$48,950.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager

Village of Orland Park
2026-2029 Pond Shoreline Stewardship
Proposal Sheet



ORLAND PARK

Pond: Beth Pond

Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$2,250.00	\$9,000.00
2	Stewardship Visits - 2027	4	EA	\$2,250.00	\$9,000.00
3	Stewardship Visits - 2028	4	EA	\$2,250.00	\$9,000.00
4	Stewardship Visits - 2029	4	EA	\$2,550.00	\$10,200.00
TOTAL					\$37,200.00

Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$15,500.00	\$15,500.00
Alt. 2	Prescribed Burn	1	LS	\$5,450.00	\$5,450.00
TOTAL PLUS ALTERNATES					\$58,150.00

Authorization & Signature

Company Name: Baxter Woodman Natural Resources

Name of Authorized Signee: Coilin McConnell

Signature of Authorized Signee:

Title: Natural Resources Department Manager